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Answer Choice “E. NOTA” indicates None of the Above Answers are Correct
1. A ball falls off of the top of Morris Tower which stands at a height of 960 feet.  The ball then bounces up two-thirds of the ball’s previous height and falls again.  If the ball bounces for an infinite amount of time, what is the total distance the ball travels?

A. 
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C. 
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E. NOTA

2. The graph of the rational function 
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 approaches a y-value of what number as x-values approach infinity?
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E. NOTA
3.  Find the area of the unbounded region above the x-axis, below the curve 
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E. NOTA
4.Evaluate:   
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E. NOTA

5. Find  
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E. NOTA
6.  Evaluate:    
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A. 
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E. NOTA

7.  Evaluate:    
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A.  
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E. NOTA

8.  Evaluate:  
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A. 
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E. NOTA

9. Sir Isaac Newton, one of the two creators of infinitesimal calculus, used what term to describe infinitely small changes in y-values divided by infinitely small changes in x-values?  
A. Differentials
 
B.  Infinitesimals 
C. derivatives

D. Fluxions 

E. NOTA

10. How many asymptotes does the function 
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A. None

B.  One
 
C. Two 
 
D.  Three 
E. NOTA

11. The expression 
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 is equivalent to which of the following?
A. 
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E. NOTA

12. Evaluate:      
[image: image48.wmf]22
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E. NOTA

13. A solid with infinite surface area and finite volume can be found by revolving the unbounded region lying between the graph of 
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 about the x-axis.  This solid is referred to as:
A. Vuvuzela
B. Gabriel’s Horn
C. Witch of Agnesi 
D. The Beard of Zeus  
E. NOTA

14. 
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E. NOTA

15. Evaluate:       
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[image: image63.wmf]3

2



D. 
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E. NOTA

16. Evaluate:       
[image: image65.wmf]sin(5)
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A. 
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E. NOTA

17. Which of the following infinite series converge?

I. 
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A. I

B. I, II

C. I, III

D. I, II, III 
E. NOTA

18.  The sequence of Fibonacci numbers can be found by the recursive relation 
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E. NOTA

19.  Evaluate the following expression and express the answer as a fraction in lowest terms:   
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E. NOTA

20.  Evaluate: 
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E. NOTA

21. Evaluate:       
[image: image91.wmf](
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A. 
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E. NOTA

22.  A particle’s position on the x-axis is defined by
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.  Find the interval(s) that the speed of the particle increasing.
A. 
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E. NOTA
23. Given 
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E. NOTA 
24.  Evaluate:
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A. 
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E. NOTA

25. The symbol for infinity, 
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A. Romans 
B. Greeks
C.  Egyptians
D.  Babylonians 

E. NOTA

26. Evaluate:  
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A. 
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E. NOTA

27. Evaluate:  
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A. 
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B. 
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E. NOTA

28. Which of the following series diverges? 
A. 
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E. NOTA

29. Which of the following is the Maclaurin representation of 
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B.  
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C.  
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D.  
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E. NOTA

30. Evaluate:
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E. NOTA

31. Find the limit of the sequence 
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A. 1    
       B. 3                     C. 
[image: image138.wmf]33

                  D. 9                     E. NOTA
32.  Evaluate:  
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B. 
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E. NOTA

33. Evaluate: 
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A. 
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E. NOTA

34.  
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      E. NOTA
35. Evaluate: 
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E. NOTA

36. Evaluate: 
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E. NOTA
37.  Given 
[image: image167.wmf](

)

0

2

()

!

n

n

x

fx

n

¥

=

=

å

 , find  
[image: image168.wmf]ln4

0

()

fxdx

ò

.
[image: image169.wmf]
A. 
[image: image170.wmf]2ln4


B. 
[image: image171.wmf]7



C. 
[image: image172.wmf]15

2



D. 
[image: image173.wmf]15

 

E. NOTA
38. 
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A. 
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D.  
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E. NOTA

39. What is the radius of convergence of the power series representation of the function 
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B. 
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E. NOTA

40. If 
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, then b must be:
A. A multiple of 5
B. One more than a multiple of 5

C. A multiple of 6
D.  One more than a multiple of 6
E. NOTA

41.  What would the balance of an account with a $200 initial investment compounded continuously at a rate 
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D.  
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E. NOTA

42. Given that 
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E. NOTA

43. Find the sum of the series : 
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C.  
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D.  Diverges
E. NOTA

44. In the late 19th century, this German Mathematician and inventor of Set Theory stated: a collection is infinite, if some of its parts are as big as the whole.   
A. Georg Cantor           B. Karl Gauss
C. Alfred Enneper
D.  Wolfgang Haack
E. NOTA

45.  Evaluate:  
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E. NOTA
46. If 
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E. NOTA

47. Evaluate: 
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E. NOTA

48.  Find the interval of convergence of 
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[image: image220.wmf]04

x

£<


  B. 
[image: image221.wmf]04

x

££


      C.  
[image: image222.wmf]26

x

-££


D.  
[image: image223.wmf]26

x

-£<


       E. NOTA

49. The first term of an infinite geometric series is 
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E. NOTA

50. Evaluate: 
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E. NOTA

51. Achilles and the Tortoise is one example from a set of paradoxes from a Greek philosopher by the name of:
A. Archimedes 
B.  Zeno
   
C. Euler

D.  Plato
E. NOTA
52. Evaluate: 
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E. NOTA

53. Evaluate: 
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E. NOTA

54. Evaluate:  
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E. NOTA

55. Evaluate:   
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E. NOTA
56.  Find x such that 
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A. 
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    E. NOTA
57. Describe the convergence of the series 
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A.  Absolutely Convergent

B. Conditionally Convergent

C.  Radially Convergent


D.  Divergent



E. NOTA
58.  Let the repeating decimal 
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C. I, III

D.  I, II, III
E. NOTA

59.    Evaluate:   
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A. 
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E. NOTA

60. Evaluate: 
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E. NOTA

61. Which of the following must be true of a convergent series.  
A. The terms must decrease in value
B. The limit of the sequence must be zero

C. Has no limit 



D. A sum that can be found using 
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E. NOTA

62.  Evaluate:   
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E. NOTA

63. This guy, along with Newton, was co-creating infinitesimal Calculus in the 1660s.  (Hint: He had pretty amazing hair)
A.  Shula
B.  Leibniz
C.  Gauss
D.  Euler
E. NOTA

64. Express the number 
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as a fraction in lowest terms.
A. 
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E. NOTA

65. Find the radius of convergence of  
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E. NOTA

66. Evaluate: 
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E. NOTA

67. Evaluate: 
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E. NOTA

68. Find the sum: 
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E. NOTA

69. Evaluate:  
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E. NOTA

70. In the mid-1600s, what Mathematician suggested using, “
[image: image311.wmf]¥

”, should be the universally accepted representation of infinity? 
A. John Wallis
      B. Isaac Newton
 C. Gottfried Leibniz 
  D.  Karl Gauss
       E. NOTA

71. Find the volume of the solid formed by revolving the curve 
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E. NOTA
72. Evaluate: 
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E. NOTA

73. Find the sum of the series 
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… where the terms are the reciprocals of the positive integers whose only prime factors are 2s and 3s.
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74. Evaluate: 
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E. NOTA

75. Evaluate: 
[image: image332.wmf]2
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E. NOTA

76.  Which of the following series can be tested for convergence by using the integral test?
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A. I

B. I, II

C. II, III 
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E. NOTA

77.  If 
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is a positive integer, then 
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 can be expressed as which of the following definite integrals.
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            E. NOTA 
78. Evaluate:  
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                     E. NOTA

79. Evaluate: 
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E. NOTA

80.  This method of approximating area was used by Archimedes to approximate the area of various conics and other general regions.  The method involves finding the area of polygons inscribed in and circumscribed about the region, increasing the number of sides of the polygon yielded approximations of area approaching the same number from both the inscribed and circumscribed polygon. The method is known as:
A. Repetition
B. Procession
C. Microtion  
D.  Exhaustion
    E. NOTA

81. Evaluate:  
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E. NOTA

82. Evaluate: 
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E. NOTA
83. Find the positive value of 
[image: image366.wmf]x

for which
[image: image367.wmf](

)

0

21

6

!

n

n

x

n

¥

=

-

=

å

.

A.  
[image: image368.wmf]ln6

e

    
 B. 
[image: image369.wmf]ln6

                C. 
[image: image370.wmf](

)

2ln6

e

       D.  
[image: image371.wmf]ln36

            E. NOTA
84. Evaluate:  
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E. NOTA
85. Find the limit of the sequence: 
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E. NOTA

86.  Evaluate: 
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E. NOTA

87. Which of these series diverges?
A. 
[image: image387.wmf]1

2

3

n

n

n

¥

=

å


B. 
[image: image388.wmf]1

2

3

n

n

¥

=

æö

ç÷

èø

å

 
C. 
[image: image389.wmf]1

2

3

n

n

¥

=

å


D.  
[image: image390.wmf]3

1

2

n

n

¥

=

å


E. NOTA

88. The cardinal number that tells how many natural numbers are in an infinite set is called 
A. Aleph-Null
B. Alpha-Non
C. Primer 
D. Rho-nun 
E. NOTA

89. Evaluate: 
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E. NOTA

Use the Power Series  
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  to answer questions 90-92.

90. Find 
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E. NOTA

91. Evaluate:  
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E. NOTA

92. If 
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E. NOTA

93. Evaluate: 
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E. NOTA

94. Evaluate:  
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E. NOTA

95.  Evaluate: 
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D.  Diverges
E. NOTA

96. Find the interval of convergence for  
[image: image427.wmf](
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E. NOTA

97. Evaluate: 
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E. NOTA

98. What are all the values of 
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 for which the series 
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E. NOTA

99. Evaluate: 
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E. NOTA

100. What word describes the expression 
[image: image448.wmf]¥
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A. Irresolute 
     B. infinite 
    C. Indeterminate
    D. undefined             E. NOTA
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